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Bonjour,


simple : ocamlc m'envoie ch*** alors que ocamlyacc lui a genere sans broncher :


/* File parser.mly */

%{

type equa =
£spaces£    £/spaces£|Val of float
£spaces£    £/spaces£|Var of string
£spaces£    £/spaces£|Fun of string*(equa)*string
£spaces£    £/spaces£|UOp of string*(equa)
£spaces£    £/spaces£|Op of string*(equa)*(equa)
;;

%}

%token  REAL INT
%token  VAR
%token PLUS MINUS
%token TIMES DIV POW
%token LPAREN RPAREN
%token LOG TAN SIN COS
%token EOL
%token PI E
%token Leol
%left PLUS MINUS
%left TIMES DIV
%left POW
%right LPAREN COS SIN TAN LOG
%nonassoc UMINUS
%start debut
%type  debut

%%

debut:
£spaces£        £/spaces£expr Leol       {$1}
;

expr:
£spaces£        £/spaces£VAR                             { Var($1)               }
£spaces£        £/spaces£|PI                             { Val(3.1415926535898)  }
£spaces£        £/spaces£|E                              { Val(2.718281828459)   }
£spaces£        £/spaces£|REAL                           { Val($1)               }
£spaces£        £/spaces£|INT                            { Val($1)               }
£spaces£        £/spaces£|LPAREN expr RPAREN             { Fun("(",$2,")")       }
£spaces£        £/spaces£|COS expr RPAREN                { Fun("cos(",$2,")")    }
£spaces£        £/spaces£|SIN expr RPAREN                { Fun("sin(",$2,")")    }
£spaces£        £/spaces£|TAN expr RPAREN                { Fun("tan(",$2,")")    }
£spaces£        £/spaces£|LOG expr RPAREN                { Fun("ln(",$2,")")     }
£spaces£        £/spaces£|expr POW expr                  { Op("^",$1,$3)         }
£spaces£        £/spaces£|expr PLUS expr                 { Op("+",$1,$3)         }
£spaces£        £/spaces£|expr MINUS expr                { Op("-",$1,$3)         }
£spaces£        £/spaces£|expr TIMES expr                { Op("*",$1,$3)         }
£spaces£        £/spaces£|expr DIV expr                  { Op("/",$1,$3)         }
£spaces£        £/spaces£|MINUS expr %prec UMINUS        { UOp("-",$2)           }
;

%%



a compiler avec :


ocamlyacc parser.mly

ocamlc -c parser.mli


mon erreur :


ocamllex lexer.mll
33 states, 654 transitions, table size 2814 bytes
ocamlyacc parser.mly
ocamlc -w A -i -c parser.mli
File "parser.mli", line 22, characters 48-52:
Unbound type constructor equa
*** Error code 2

Stop.



fichier parser.mli genere par ocamlyacc :


type token =
£spaces£    £/spaces£REAL of (float)
£spaces£  £/spaces£| INT of (float)
£spaces£  £/spaces£| VAR of (string)
£spaces£  £/spaces£| PLUS
£spaces£  £/spaces£| MINUS
£spaces£  £/spaces£| TIMES
£spaces£  £/spaces£| DIV
£spaces£  £/spaces£| POW
£spaces£  £/spaces£| LPAREN
£spaces£  £/spaces£| RPAREN
£spaces£  £/spaces£| LOG
£spaces£  £/spaces£| TAN
£spaces£  £/spaces£| SIN
£spaces£  £/spaces£| COS
£spaces£  £/spaces£| EOL
£spaces£  £/spaces£| PI
£spaces£  £/spaces£| E
£spaces£  £/spaces£| Leol

val debut :
£spaces£  £/spaces£(Lexing.lexbuf  -&gt; token) -&gt; Lexing.lexbuf -&gt; equa



Une idee ?
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